TRIENRIPE !
RS REAHEAR

HA#FEERER
<BAARry MR—VER > HEMER <FF =R — >
18 83—48 fHELT 1 [B]4 0—2 ik
2/ 83—59 FFEF
YERPE 66 —6 2 HEFE
WRE 6 9—87 SfEmh < 5 A EHERER >
BRSS! IQEIL: 2—3 (P
<HBEH LTI > SHEREES
o . 1 [A]H 3—0 s
2Eg  4-0 HERE 2 0—3 falE
3 [ml 2—0 KEFHF
YER s 3—1 LEHFEP —
YW 0—5 WTEEN <EPERE >
B 8 1 1 [FHg 0—5 HmH
<7'%<ﬁ%|3> <ﬁ”i§%ﬁ %%ﬁ§>
BE1EE  0—5 AN L 3-0 Hmh
LT 1EE  0-—3 FHHED 2l 0—2 ZHT
BARSR(RAELRHE)
<[z k55 >
IRFAEH A+ 4X100m U L— 447
=K A= Bl
LN B KA
¥ 3000m 107 a5
5B+ 110mH 5 fir FE IR H
B = Bk afr  HRERGEF
5 P 407 HEM EE
- 800m afr  EHH OWAE
#+ 1500m 66  HH MAE
11 ENE B 4 EWE RM
2 12+ 100m 3hE ml EE




< IKPKER >
BF4X100m 7V —V L— 6L
INAIRFERRR - RE &
O OEM - [

HF 200m AN A FL— 8hr  EHIE
BF 400m AN A FL— afr EHE
#Z+ 200m H B 7 R
#Z+ 100m H B 7 R
- 200m Ik E 447  VHH
- 100m ik 5 THH

a5
a5
D%
e

<FIEER > RPERRITENE
A Bk BB
RR&=HE !




